

عوض از صبا $y = a(x-h)^2 + k$

$-1x - h = 0$
 $h = -1$

$y = \frac{1}{4}(x+1)^2 + 9$

$y = a(x+1)^2 + 9 \xrightarrow{(4, 9)} 9 = a(4+1)^2 + 9$
 $16a = -1$
 $a = -\frac{1}{16}$

۱

$m^2 - 11m + 18 > 0 \rightarrow (m-2)(m-9) > 0$
 $m^2 - 11m + 18 < 0 \rightarrow (m-2)(m-9) < 0$

$\frac{m+4}{2} > 0 \rightarrow m > -4$
 $\frac{m+4}{2} < 0 \rightarrow m < -4$
 $\frac{m+4}{2} > 0 \rightarrow m > -4$
 $\frac{m+4}{2} < 0 \rightarrow m < -4$
 $\frac{m+4}{2} > 0 \rightarrow m > -4$
 $\frac{m+4}{2} < 0 \rightarrow m < -4$

۲

$(2m-1)^2 - 4(3)(2m-1) > 0$
 $4m^2 + 11m - 11 > 0$
 $0 < 4m^2 - 4(3)(2m-1) < 0$
 $4m^2 - 24m + 12 > 0$
 $4m^2 - 24m + 12 < 0$
 $4m^2 - 24m + 12 > 0$
 $4m^2 - 24m + 12 < 0$
 $4m^2 - 24m + 12 > 0$
 $4m^2 - 24m + 12 < 0$

۳

$x^2 - x + 1 = 0$
 $S = 1, P = 1$
 $x_1^2 + x_2^2 + \frac{1}{x_1} + \frac{1}{x_2}$
 $(x_1 + x_2)^2 - 2(x_1 x_2) + \frac{1}{x_1} + \frac{1}{x_2}$
 $21 - 2(-4)(1) - \frac{1}{-4} = \frac{91}{4}$
 $(x_1 + \frac{1}{x_1})(x_2 + \frac{1}{x_2})$
 $(x_1 x_2)^2 + (x_1 x_2)(x_1^2 + x_2^2)$
 $(-4)^2 + (-4)(1 - 2(-4)) + (\frac{1}{-4}) = \frac{-31}{4}$
 $\frac{91}{4} - \frac{31}{4} = \frac{60}{4} = 15$

۴

$(\sqrt[3]{x} + \frac{1}{\sqrt[3]{x}})^2 (\sqrt[3]{x} + 1)(\sqrt[3]{x} - 1) = 2\sqrt[3]{x}$
 $x - \sqrt[3]{x}^2 + 2\sqrt[3]{x}^2 - 2\sqrt[3]{x} + \sqrt[3]{x} - 1 = 2\sqrt[3]{x}$
 $\sqrt[3]{x}^2 - \sqrt[3]{x} + x - 1 = 0 \rightarrow 9 = \frac{b}{a} = 9$

۵

$$\begin{aligned} & \chi_1 = \chi_2 \quad \chi_1' - \chi_2' = 0 \\ & \left\{ \begin{aligned} S &= \frac{a}{r} \\ P &= \frac{f}{r} \end{aligned} \right. \quad \chi_1' - \frac{a}{r} \chi_2 + \frac{f}{r} = 0 \\ & \Delta = 0 \quad \frac{a'}{a} - f(1) \left(\frac{f}{r} \right) = \frac{a'}{a} - \frac{f^2}{a} = 0 \quad \begin{aligned} & a' = 2rf \rightarrow a = 2rf \\ & \uparrow \\ & a' - f^2 = 0 \end{aligned} \end{aligned}$$

$$\begin{cases} a < 0 \text{ (I)} \\ p \geq 0 \checkmark \\ s > 0 \rightarrow \frac{-w - r_a}{1} > 0 \rightarrow \begin{matrix} -r > r_a \\ r/l_e > a \text{ (III)} \end{matrix} \end{cases} \quad \xrightarrow{I \wedge III} \quad a < \frac{-w}{r}$$

$$\left\{ \frac{-a}{r} = \frac{r}{-r} \rightarrow \frac{ra \pm r}{a \pm r} \rightarrow ab \pm r \neq 0 \right.$$

$$\frac{y=1}{\rightarrow} \frac{-4}{50x} = 1 \rightarrow \frac{4(-1)(b)}{5} = \frac{4+b}{5} = 1$$

$$\begin{array}{l}
 x_1 = \frac{1}{r} + x_r \longrightarrow x_1 \frac{r}{b} = \frac{1}{r} + \frac{1}{r} (x_r \frac{r}{b} + \frac{x_r \frac{r}{b}}{-a}) \\
 x_r = \frac{1}{r} + x_r \longrightarrow \frac{r}{b} \\
 \left. \begin{array}{l} s_1 = \frac{a}{r} \\ p_1 = \frac{b}{r} \end{array} \right\} \begin{array}{l} s_r = \frac{-a}{r} \\ p_r = -r \end{array} \longrightarrow \begin{array}{l} b = -r - r a \longrightarrow a + r b = -1 \\ \frac{a}{r} + \frac{-a}{r} = 1 + \frac{-a}{r} + x_r \frac{r}{b} \longrightarrow 1 + r b = -1 \\ \underline{a = 1} \quad \quad \quad r b = -2 \\ \left[\frac{a}{r} \quad b \right] = \left[\frac{-2}{r} \right] = (-2) \quad b = -2 \end{array}
 \end{array}$$

$$\begin{cases} r^4 + 4r + m = 0 \\ r^4 + r - m = 0 \\ r^4 + 5r = 0 \end{cases}$$